@) —~

—_—

ALL TRUCK PART

No OEM No Vehicle Model Model BR;‘:(E)TDC')SC posimon|] A | B | ¢ | D E HOLES
1400163 "!; 12H
1 1408250 DAF LF45 exc 12 tonne 01~ | @ | Fo329| 35 |17 | 124 [ 138 |, T
1400273 .\@ 12H
2 1408254 DAF LF45 exc 12 tonne 01- _ R |[329] 35 [149| 120 | 175 it 75
3 1400069 DAF LF55 12-18 tonne 02- e F 375 45 [ 117 100 | 145 | 10Hx15mm
2 10H
4 1400284 DAF LF55 12-18 tonne 02- i3 R | 374 | 45 |179| 147 | 210 | 0
1403758 é 16H
5 1408253 DAF LF45 12 tonne 01- Foo|329| 34 |133] 144 [ 150 | T
1387439 o
6 a5 1 DAF CF 65 CF 75 CF 85 XF 95 F/R |432] 46 | 257 46 | o 10H
1387439 o
7 164056 1 DAF SB4000 99- F/R |432] 46 | 257 46 | o 10H
8 1393560 1393561 DAF ALPHA Range 98- Za | OFR
%
—
299095 299295 SB2305 87-, SB2705 87-, | (4 10H
9 1730000 DAF <8300 ‘ F/R 460 | 48 [170 | 119 | 195 |
299095 299295 t"f" 10H
10 1730000 BOVA BUS FUTURA FHD, FUTURA FVD | "= % F/R 460 | 48 |170| 119 | 195 |
299095 299295 :"'f‘ 10H
11 1730000 NEOPLAN | JETLINER 85-, NEOPLAN 92- | 2 % F/R 460 | 48 [170 | 119 | 195 |




AMPB889,MAK7529 , , 10H
12 MAK7429 RAK7404 DAF 45 series @ F 315 [ 26 (19| 122 | 138 | o
MAK2487 PAK3546 ap 12H
13 AMPaEST DAF SWIFT 87- .,&_* F 312 30 | 134 137 [ 135 | T
MAK2487, PAK3546 a8 12H
14 AMPaEST LDV-PSV SWIFT 87- -&_ﬁ F 312 30 (134 137 [ 135 | o L
MAK2487 ,PAK3546 ROADRUNNER 10.12, 10.13, | /A48 12H
15 AMPaEST LEYLAND (015 ﬂ F 312| 30 134|137 [ 135 | T
NJK2785, AMPB860 o 10H
16 AMPAO14 DAF 50 series 55 series - F 375 44 [ 145 128 | 185 M14x1.5mm
MEN
|| 1 |i
1387439 L
17 (640561 DAF XF95, CF85 a F 432 | 45 | 258 | 45
18 1387439 DAF CF65,CF75,CF85,XF95 »:u’ F/R |432] 45 | 257 | 46
19 1907528 IVECO FORD EUROCARGO TECTOR ot F/R |304] 30 | 165| 129 | 205 | 6Hx18.2mm
1907529 &k
20 1907528 BEULAS PSV MIDI STAR 00- a4 F/R |304] 30 | 165| 129 | 205 | 6Hx18.2mm
1907529 ad :
1906191 EUROCARGO EUROSTAR 12H
21 1008729 IVECO FORD EUROTECH SUPERCARGO &, F/R | 430 | 50 | 170 | 102 | 195 e
1907526 (19
22 (007527 IVECO FORD EUROCARGO TECTOR &5 F/R |322] 30 | 215 134 | 275 | 8Hx20.15mm
1907526 G
23 (007527 IVECO MAXIM 80E, 100E 98- S F/R |322] 30 | 215 134 | 275 | 8Hx20.15mm
1907568 EUROCARGO TECTOR 8Hx20.15mm
24 2172880 IVECO FORD CUROLIFE F 370 | 45 | 215| 150 | 275 | SR o
172930 8Hx22.15mm
25 19075697 IVECO FORD EUROCARGO u F 370 | 45 | 215 | 182 | 275 | © L S
26 1907765 IVECO FORD ZETA U¥ F 322 | 30 [ 220 129 | 275 | ®Px20.Imm
7171255 (withstuds)




1907765 d 8Hx20.1mm

27 e IVECO CITY BUS ig Foo[322| 30 220 129 | 275 | e

28 1904532 IVECO FORD | EUROCARGO ZETA Z-range ey F | 315] 26 | 160| 119 | 205 | Texis-2x10
7168368 g &d

29 1904529 IVECO DAILY Turbo Diesel 86-90 a Foo|267 | 142 15| 111 | 170 | 1g’it1”§fnm

-

30 1906461 IVECO 4 Fo|4%| 45 |210] 139 [ 240 | 1%
1904693 6H

31 (o04eoE IVECO ﬂ F|290] 25 | 140 161 | 205 o s
1904528 e 6H

32 8487790 IVECO it F | 266]| 14 | 59 | 155 | 170 o s

33 93161407 IVECO @ F|416] 28 | 159| 67 | 186 | 10Hx28mm
1904534 o~

34 8124117 IVECO e F | 417] 31 |157] 80 | 186 | 10Hx18mm

35 42471150 IVECO DAILY 60C13 , DAILY 65C13 R |305] 22 [178] 131 | 215 1 o;’:'25
02992477 EUROCARGO EUROTRAKKER | . 4 12H

36 07184136 IVECO STRALIS =7 F/R | 432 45 |210| 139 | 240 oo
2995894 a

37 g IVECO Eurocargo F/R | 378 45 | 93 | 105 | 1045

38 1908773 IVECO R |289| 22 | 84| 85 | 108 8X10.5

39 1908793 IVECO s R 289 | 22 | 84 | 85 | 108 8X10.5

40 2991646 IVECO DAILY = 276 | 16 | 73 | 66,5 | 118 | sHx15.6mm

ol
41 7182299 IVECO DAILY 276 | 16 | 73 | 66,5 | 118 | sHX15.6mm




42 42471031 IVECO DAILY 276 | 16 | 73 | 66,5 | 118 | sHX15.6mm
43 7182300 IVECO DAILY 276 | 16 | 73 | 66,5 | 118 | sHX15.6mm
42470842 = 6H
44 S3871918 IVECO IVECO DAILY, - Fof290| 22 [125| 111 [ 170 | C0
45 42470836 IVECO DAILY I, = Folaze| 22 | 73| 73 | 118 5X16MM
46 42471214 IVECO DAILY II, 65C15 F |290] 26 | 80| 53 | 110 9X12.5
.
47 2996131 IVECO DAILY I, & F |300] 28 | 78| 75 | 125 6X15.5
48 2996121 IVECO DAILY Il —— F {200 28 | 74| 46 | 95 9X12.5MM
2996328
49 soare IVECO STRALIS R |432| 45 [ 210 139 | 240 | 1oxmiexz
50 2996329 IVECO EURO TECH, EURO TRAKKER,| | =i ) F/R |435| 45 | 210 138 | 240 12M16X2
STRALIS :
51 2992271 IVECO EUROCARGO & Fol377] 45 | 215 151 | 275 85TUDS
M18X1.5mm
&
6684230412 2 "
52 54700000 MERCEDES BENZ VARIO 612D, 614D A3 R [304] 30 |20 121 [ 192 [ 2
&; 6H
53 6684230112 ALEXANDER-PSV MINI \j;, R |[324] 30 [157] 121 | 192
M12x1.5mm
) i
VARIO 4.3 TDi, VARIO 810D, 6H
54 6684230112 MERCEDES BENZ | 0" ot 1. g6, \.j;; R [ 324 30 |57 | 121 [ 192 | 2
@ 6H
55 6684230112 OPTARE NOUVELLE SR 1 R |[324] 30 [157] 121 | 192
- M12x1.5mm




VARIO 4.3 TDi, 810D, 814D,

6H

56 6684230512 MERCEDES BENZ o, B | r [0 0|2t | 2|
57 6684230512 OPTARE NOUVELLE SR ‘ ﬂ | R [324] 30 [n20 | a2t | ae2 |, O
58 9704230212 MERCEDES BENZ | ATEGO 712-823 98- | f]y R 330 34 | 131|130 | 177 |  sHxmr2
so| 3 56;52;:5011 122/ 1023 12 NEOPLAN EUROSTAR, TRANSLINER ﬂ F/R 438 | a5 195 135 [ 235 | 100
60 3563452;:5011122/ 1023 2| mercepes genz | O340 (%34%? J;’S%R'SMO ﬁ FR | 438 | a5 |195| 135 [ 235 | 100
61 Zglglggg MERCEDES BENZ :8773’:8:3”‘;11%’;11%% ﬂ F|280] 16 | 88| 79 | 112 | sSHx12.6mm
62 zglgigzg MERCEDES BENZ |  SPRINTER TRAVELINER &“j R |258| 12 | 85| 96 | 130 | SHx15mm
63 90;3322;21 ‘2”2 OPTARE SOROCO NT & ‘ R |258| 12 | 85| 96 | 130 | SHx15mm
64 90;3?222;;1 ;” 2 VOLKSWAGEN | LT seres ii’ 93 : LT series & ‘ R |258| 12 | 85| 96 | 130 | SHxt5mm
65 6384230112 MERCEDES BENZ | _ OD’TRX\'/TE(E”L?;DT’U’ i O R |280| 10 | 67 | 65 | 112 | SHx15mm
66 2;8‘3‘;(1)83(1)3 NEOPLAN ECONOMY, TEAMSTAR & o324 30 [118] 91 | 140 | O
67 Z;g:g;gg;é MERCEDES BENZ 709,709D,2 :S§;18259D,811D,8 & Fo|324| 30 [118] 91 | 140 | L
68 2;8‘3‘;(1)83(1)3 OPTARE STAR RIDER 86- & Fo|324| 30 [118] 91 | 140 | oL
69 6314200372 MERCEDES BENZ ﬂ Fo|238| 16 |102| 79 | 140 | SHx15mm
70 9704210112/012 MERCEDES BENZ |  ATEGO 712-823 98- j i Fo|335] 34 | 92| 102 | 120 | 10Hx14.5mm

9704210612

b




71 6384210112 MERCEDES BENZ |  V'10_108D, 110D, 113 o F |276| 22 | 67 | 60 | 112 | 5Hxt5mm
TRAVELINER Xd
VARIO 0409, 512D, 612D, 6H
72 6684210112 MERCEDES BENZ 6140, 8120 & Foo|304] 30 |18 | o1 | 140 | 7
" 6H
73 6684210212 ALEXANDER-PSV | ALX 8.1-8.5m Mini 96-, MINI .!ii, Foo|324] 30 | 18| o1 [ 140 | "
VARIO 4.3 TDi, 810D, 814D, 6H
74 6684210212 MERCEDES BENZ D %. Ei Foo|324] 30 | 18| o1 | 140 | o
75 6684210212 OPTARE NOUVELLE SR é_i, F | 324 30 | 118] 91 | 140 6H
M12x1.5mm
6694210612 T2 series 508D,510,511D ﬁ/ 6H
76 6694200000 MERCEDES BENZ | £100709,709D,711D o304 30 | 118 91 | 140 1 \ot 5mm
77 6684230012 MERCEDES BENZ |VARIO 612D, 614D, 812D 96-| . 1 R |304] 30 157 | 121 | 192 6H
= M12x1.5mm
9704230612 8H
78 6704200000 MERCEDES BENZ ATEGO 712-823 98- ﬂ RO [335| 34 [131 | 111 |77 | S
9424211212/012 . g% 10H
79 042421091 DISCOS TRAILER | NR series SB7000, PAN22 | & # F/R [430| 45 [211] 133 | 238 | ..
9424212112/1112 i 10H
0424210012 GRANNING LYNX SB7000 00- & F/R [430| 45 [211] 133 | 238 | .
9424211112, KAROSA (RECREO) 930E, 940E 97- i F/R | 430 | 45 [211| 133 | 238 10H
9424210912/1012 — M14x1.5mm
9424211212/012 . 1 1oH
9424212112 LIAZ-PSV 400 series 98- \-.‘:_..J F/R 430 | 45 | 211 | 133 | 238 M14x1.5mm
9424212112 ACTROS ATEGO INTEGRO an 10H
9424211112/012 MERCEDES BENZ 0550, TRAVEGO &R F/R 1430 45 1 2111 133 1 238 1 it 5mm
9424211212 1 10H
0424212112, 1137415 OPTARE SOLERO SR pyd F/R [430| 45 [211] 133 | 238 | .
9424211212,9424212112 G 10H
0424211012 SMB DB22 Ry F/R | 430 | 45 |211| 133 | 238 | . -




86

9424212112,9424211112
9424210912

YORK

Trailers with 22.5" wheels

9024210612,9024210412/312

87 | aopesionrsrot sorsrosung | MERCEDES BENZ | SPRINTER TRAVELINER
| mzomann | ore | sonocon

89 Zg;ﬁ}gg};gﬂi“;gggggg% VOLKSWAGEN | LT series 28, 35, 46 96-
9% 9024239%32:22,:8;142230112 MERCEDES BENZ SPRINTEI?I_I{R:V_:::IL_:I;IER TL13,
g1 | DI L0 OPTARE SOROCO NT

g2 | oML VOLKSWAGEN | LT series 28, 35, 46 96-
g3 |  P044m0212,9044230312 1 \epcEDES BENZ SPRINTER

2D0615601B

(e
\?:ﬁ-

RSSO OE

F/R | 430 45 | 211 | 133 | 238 M14)1(?.|-;mm
F 276 | 22 85 77 130 5Hx15mm
F 276 | 22 85 77 130 5Hx15mm
F 276 | 22 | 85 77 130 5Hx15mm
R 272 16 | 85 96 130 5Hx15mm
R 272 | 16 | 85 96 130 5Hx15mm
R 272 | 16 | 85 96 130 5Hx15mm
R 285 | 22 (120 93 146 6Hx15mm




9044230212,9044230312

94 e OPTARE SOROCO NT M 285 | 22 | 120| 93 | 146 | 6Hx15mm
g%
9044230212,9044230312 . ¥
95 D06 156018 VOLKSWAGEN | LT series 28, 35, 46 96- | Aa i 285 | 22 120 93 | 146 | 6Hx15mm
9704230512,9704230012 8H
9 | or0e30712.9704232117 | MERCEDES BENZ | ATEGO 917-1023 98- a 335 34 152|111 | 77 | ST
L]
9754210112,9754210012
97 puliddione NEOPLAN CLUBSTAR 98- JAL 377 | 45 [ 106 | 134 | 138 | 14Hx14.5mm
Ll
gg | HDIL TO0N ESKER PSV TOURING 98- AL 377 | 45 | 106 | 134 | 138 | 14Hx14.5mm
L]
el I e MAN CITY BUS 11.220 HOCL 98- | i 377 | 45 | 106 | 134 | 138 | 14Hx14.5mm
Ll
9754210112,9754210012 ATEGO 917-1023, 1215-1528
100 ettt MERCEDES BENZ o8, AL 377 | 45 |106| 134 | 138 | 14Hx14.5mm
L]
101| AT 00 YORK TRAILERS 19.5" Wheels | & 377 | 45 | 106 | 134 | 138 | 14Hx14.5mm
9754230312,9754230012 PAN19, PAN 19-1,5B6000, s 8H
102 bl DISCOS TRAILER T 8= 8 377 | 45 176 | 138 | 201 | ST
o
9754230312,9754230012 8H
103 il GRANNING LYNX SB6000 00- u___.:ﬁi 377 | 45 | 176 | 138 | 201 | L
&
9754230312,9754230012 8H
104 el NEOPLAN CLUBSTAR 98- @_is 377 45 176 | 138 | 201 | 0T
o
9754230312,9754230012 8H
105 il ESKER PSV TOURING 98- u___.:ﬁi 377 | 45 | 176 | 138 | 201 | L
&
9754230312,9754230012 8H
106 bl MAN CITY BUS 11.220 HOCL 98- @_is 377 | 45 176 | 138 | 201 | 2T
7| osmseemsa0n | oo |ATEGO 917-1023, 1215-1528 o | 7| s 1176 | 138 | 201 8H
9754230612 98- = M14x1.5mm
108 9434210312 MERCEDES ACTROS 430 | 45 | 130 | 145 175 10




6014200172, 6014200372,

109| o | MERCEDES BENZ | 508D,511D,608-609D 1986- F o280 22 | 88| 79 | 112 | sHx13mm
110 9064210012 MERCEDES BENZ SPRINTER A ﬂ J F 300 [ 28 | 85 | 69 | 130 6

111 9064230012 MERCEDES BENZ SPRINTER 3-3,5t u‘:rﬁ"ﬁ_ R |208| 16 | 85| 71 | 130 6

112 6394210012 MERCEDES BENZ | VITO 3.0,3.2,2.0CDI-2.2CDI | ‘4 “‘ Fo|300| 28 | 67| 59 | 112 5

113 6394230112 MERCEDES BENZ | VIT03.0,3.2,2.0,2.2¢DI | &% | R | 296 | 10 | 67 | 58 | 112 5

114 9064230112 MERCEDES BENZ SPRINTER e R |303| 28 [120] 93 | 145 6

115 1:222;2 AYATS Bravo 1 99- ﬁ F/R | 430 | 45 |208| 131 [ 237 | 00
116 Egzgz BERKHOF-PSV EXCELLENCE 3000HD ﬁ F/R | 430 | 45 |208| 131 [ 237 | IO
117 e scania | 4eeneS 2??&21\:{4’ N1z ﬁ FR | 430 | 45 |208| 131 [ 237 | 00
118 Egzgz VAN HOOL ALIZEE 96-, ASTROBEL 5 FR | 430 | 45 |208| 131 | 237 | O




119 81508030010 MAN L2000 series 5L150-190 s F 324 30 | 135] 102 | 158 10H
series AR M14x1.5mm
81508030026 L2000 series L2000,M2000 L| . 10H
120 81508030024 MAN series i F/R 13301 34 1135|104 | 158 | )t 5mm
121 81508030022 MAN 12000 series L2000,M2000 L 'ﬁi F/R [ 330 34 | 157 124 | 180 12H
series - M12x1.5mm
S 10H
122 81508030028 MAN F90 M90 TG-A &D | FR 432 45 |208| 135 | 235 | L
123 81508030039 MAN L2000 LE L2000 EVOLUTION i R | 330 34 [ 145 130 | 177 8HXM12
81508030040,81508030031 "%
124] 0005 812030300ms MAN F2000 LE M2000 'S F o432 45 | 131 130 | 168 | 12Hx19mm
L)
81508030009,81508030001 10H
125] a0 a1a0aaone NEOPLAN TRANSLINER Jb F o438 45 |20 135 [ 235 | M
& m
81508030009,81508030001 10H
126| 1208030014 8108030015 MAN F2000,LE,M2000 ,EL ey F |48 | 45 |200| 135 | 235 | | "
197 | B81°08030041,81508030021 CAETANO-PSV ﬁ F/R |432] 45 208 ] 135 | 235 10H
81508030042 —_— M16x1.5mm
12g| 81908030041,81508030021 MAN F90 F2000 M90 CITY BUS ﬁ F/R | 432 45 | 208 135 | 235 10K
81508030042 _= M16x1.5mm
81508030041,81508030021 PREMIUM 220, 270, 320, ‘> 10H
129 FopAAd R.V.I. 370, 420 02- jj F/IR | 432| 45 |208 | 135 [ 235 | 0
81508030027, . 10H
130 81508030020 MAN _L_l_,, F 377 | 45 | 162 | 128 | 195 W4t 5
=3 10H
131 81508030062 MAN ToL =) R [335] 34 154 118 | 176 s
132 81508030063 MAN TGL = R [335| 34 | 154 118 | 176 i
133 81508030044 MAN TGA SERIES 00- TGM SERIES | | R |377] 45 [106| 111 | 144 | 12¢17mm

05-




10H

134 179241111131 DAF FHD 87-95 i 406 | 48 | 194 | 175 | 215
i ‘ M16x1.5mm
—
il e 10H
135 179241111131 KASSBOHRER SETRA . 406 | 48 | 194 | 175 | 215
i M16x1.5mm
=
8285390000 S 10H
136 01910000 KASSBOHRER SETRA Y| 432 45 |194| 135 | 220 | L
B kb
179241111307,8284000147 " 10H
137 st ven: KASSBOHRER SETRA L3 396 | 48 [194| 119 | 215 | L
0308834030 . &0
138 0308824037 BPW SKH series gg 377 | 45 | 230 | 160 | 275 |  sHx23mm
S
139 0308834070 BPW SKH series 5 377 | 45 | 222| 165 | 286 | 10Hx23mm
0308834010 . 3
140 0308824017 BPW SKH series by 377 | 45 | 230 | 160 | 275 |  sHx23mm
141 0308834080 BPW SKH series = 377 | 45 | 290 | 170 | 335 | 10Hx23mm
142 0308835010 BPW 58700 with ECO PLUS, SH o 430 | 45 | 290 | 160 | 335 | 10Hx23mm
series --!!
143 0308835030 BPW 587000 W":;rfgf PLUS, SH g 430 | 45 | 290 | 160 | 335 | 10Hx23mm
= i
0308834020 SB6000 with ECO PLUS, SKH @
144 0308834060 BPW A 377 | 45 | 290 | 160 | 335 | 10Hx23mm
. ol .
145 0308834040 BPW 586000 W‘t:efice(z PLUS, SKH ""’“ 377 | 45 [ 290 | 160 | 335 | 10Hx23mm
-,
146 03.088.34.10.0 BPW J= 377 | 45 294 | 160 | 335 | 10Hx23mm
147 03.088.35.05.0 BPW &3 430 | 45 | 300 160 | 335 | 10Hx22.5mm
148 03.088.34.13.0 BPW SKH SERIES(SB3745) 2003- | L. 377 | 45 | 300 160 | 335 | 10Hx23mm




21225115 &3 10H
149 191801333 ROR/MERITOR LM DX195 & 378 | 45 |222| 150 | 250 examm
150 21224263 ROR/MERITOR TM DX195 g 378 | 45 | 225 | 150 | 275 | 8Hx24.25mm
o 10H
151 21227349 ROR g 378 | 45 [ 150 | 222 | 250 examm
152 68323231 ROR é/ 335 30 | 91 | 102 | 120 | 10HX14mm
153 68323210 ROR & 335 | 30 |215| 140 | 275 8
D-DUCO 98- D-ELSA 98- | ¥ 10H
154 68323825 ROR Dx225 =) 434 | 45 | 222| 150 | 250 16X
6774686,6774687 , ﬂ 8H
155 77867 VOLVO FL6 series F 322 | 30 | 132 90 | 154 iAo
6775227,6775229 . -
156 57752979 VOLVO FL6 series =» R 322 | 30 | 216 | 138 | 275 8Hx13mm
157 6779205/8 VOLVO FL6. 9 F 322 30 [132| 90 | 154 6M14
| y |
158 3092710 VOLVO FH12 98-02, FM12 98-02 F/R | 434 | 45 45
159 3112965 VOLVO B7,B10,B12L F 438 | 45 | 195| 127 | 235 10HXM16
i Y
160 6779209 VOLVO FlL4series =) R 322 | 30 | 164 | 115 | 190 6
161 67792093 VOLVO FLéseries (=) R 322 | 30 [ 164 | 115 | 190 6
162 85103803 VOLVO FH12,FH16,FM series a F/R | 434 | 45 45
g,
163 85103809 VOLVO gl 377 45




164 85103804 VOLVO FH12,FH16, FM12,FM9 = F/R | 410 | 45 |220] 45
165 401000 VOLVO FH - FM B10 - B12 @ J 430
166 400000 VOLVO FH 12 - 16 1996-2005 C E 410
s
167 M200135 FRUEHAUF SMB 102-100 a 430 | 45 | 280 | 155 | 335 | 10Hx26.9mm
4079000500,4079000501 q
168 4079000502 SAF SK RB 9022H,5K RB 9022 K 430 | 45 | 131 | 130 | 168 | 12Hx19mm
SK RS 9022 H,SK RS 9022 K | el
169 4079000300 SAF K RS 11222 K & 430 | 45 | 190 | 161 | 335 | 10Hx22.75mm
4079000700 SK RB 9019 K (SB6, SN6), SK n
170 4079000000 SAF R 9010 W | 375 | 45 | 131 140 | 168 | 12Hx19mm
171 4079000400 SAF SK RS 9019 K SK RZ 9019 K Ei 377 | 45 | 169 | 158 | 275 | 8Hx22.75mm
4079001000 4079001001
172 40790010002 SAF SK RB 9021 SK RB 9022 &= 376 | 45 | 170| 57 | 190
4079001300 SK RB 9026 SK RB 9027 SK
173 4075001301 SAF b 9023 - 376 | 45 | 170 57 | 190
5000792539 —
174 010200000 R.V.I. MAGNUM AE MANAGER \ =3 F | 440 | 45 | 131] 100 | 165 | 10Hx16.8mm
-

175 5010216437 HEULIEZ GX317 93- & F | 438 45 [ 131 97 | 165 | 10Hx17mm
176 5010216437 R.V.I. MAGNUM MAJOR, MANAGER, | - (g F|438| 45 | 131 97 | 165 | 10Hx17mm
PREMIUM

5000450158 “

177 - 000500000 KAROSA (RECREO) CITY BUS 93- _ F 354 | 30 [ 128 82 | 151 | 10Hx12.3mm
5000450158 MIDLINER M series MIDLINER a

178 - 000500000 R.V.I. oD150.09 ] F 354 | 30 | 128 | 82 | 151 | 10Hx12.3mm




179 5010422262 RV.I. 330 34 | 95| 80 | 118 | 1oHxt4s

180 5010422263 RV.I. é 330 | 34 [ 194 | 137 | 245 | eHx2tmm

181 5010525014 RV.I. MIDLUM 19.5" WHEELS | &) 375 | 45 | 116| 99 | 145 | 1okt
>

182 5010260609 RV.I. MASCOTT 1999- & 200 | 22 | 15| 78 | 132

183 5010422364 RV.I. MAGNUM 400,440,480 | /) 434 | 45 | 224 160 | 256 1
14X1.5mm

184 50102600218 RV MIDLUM99 = 380 | 45 | 117 | 85 | 144 10

185 50102600218 RV MIDLUM99- o=

186 4403038 RVI MASTER &= 35| 28 | 90 | 78 | 130 | sHx15.7mm

187 4501421 RV MASTER o 305 | 28 | 9 | 78 | 130 | sHxi5.7mm

188 9111038 RV MASTER o, 305 | 28 | 90 | 78 | 130 | sHxi5.7mm




189 9161721 RVI MASTER a F 305| 28 | 90| 78 | 130 | 5HX15.7mm
190 5010525308 RVI MIDLUM 99-06 : F 330 36 | 95| 80 | 118 10XD15mm
191 82133310 NEOPLAN EUROLINER,SPACELINER > F/R | 430 | 45 | 200 | 131 | 235 10H
TRANSLINER &3 M16x1.5mm
_ = 10H
192 82133310 DAF FHD 92 @ F/R | 430 | 45 | 200 | 131 [ 235 | . "
CITYLINER, > To
193 82135830 NEOPLAN JETLINER,SKYLINER,STARLIN i-‘ F/R | 430 45 [203| 131 | 235
ER = ¥ & M16x1.5mm
AXIAL DD 138-430XE i » 10H
194 82135830 BOVA BUS MAGIG HD 120-420XE L8 F/R [ 430 45 | 203 | 131 | 235 | . .o
FHD 15.430, FHX 15.420, i » 10H
195 82135830 DAF FLD 15.370 LB F/R | 430 | 45 | 203 | 131 [ 235 | . "o
196 82135830 KASSBOHRER SETRA $328 DT 95- i- F/R | 430 | 45 | 203 | 131 | 235 10H
—_—— M16x1.5mm
= 10H
197 82135830 SOLARIS PSV CITY BUS 99- ii F/R | 430 45 203 131 | 235
- L M16x1.5mm
198 80162100 NEOPLAN 410 | 48 | 162 | 120 | 185 12H
M16X1.5
A Dliarmelor
B Thckness
C. Innar chameder
D: Haight
E Diamater from hole
canter o hole cenler




